( Double—Rod Cylinder |

. (66-¢32)
W Specification
Bare (mm}) 6 10 l i l 20 l 25 l 32
~ Applicable medium Air
Action Double acting
| Proof pressure MPalkgf,/cm2] 1.05{10.7}
\ Max pressure MPalkgl/em2| 0.77.1}
Double—shaft construction
Min pressure MPalkgf /cm2| 0.15{1.5} 0.1)1.0f 0.05(0.51]
and standardization of high
Envi and fluid 5 =~ BO0°C(No Freeze)
lateral load resitance and
Cushion Rubber cushicn on both end
high accuracy
Construction Double cylinder (2 times of force)
#Lubrication Not required
Choosen TYPB Stroke adjustable range Retraction distance 0 ~ Smm
. Beari Slide bearing/Ball guide bearin
Magnetic Type. CXS n e Sedallc e
+0.1 +0.15 +0.13 +0.11 +0.1 +0.08
Non—rotating Accuracy
+0.1 +0.1 +0.07 +0.08 +0.05 +0.04
Bearing type
M-Slide bearing Pipe Size RC(PT) M4 x0.8
L—Ball guide bearing #IS0VG32 | il required lubrication
Bore B Stroke /Magnetic Switch
G- ¢ Bmm
Stroke Bol orbit Mounti
10=410mm m Standard Stroke =
15— ¢ 15mm (mm) Sensor switch
20— ¢ 20rmm
25— ¢ 25mm & 10,20, 30,40 50
32— b 32mm 10 10,15,20_ 25 30 35 40 45 50 60 70, 75
L cs1-M
B Order Example 20 10,15,20,25_30,35,40 45,
1)Bore. 15 Stroke. 30 Ball guide bearing, Code. CXSL15-30 5 50,60,70,75 80 90 100
2)Bore.32 Stroke.100 Slide bearing, Code CXSM32-100 32
The cylinder body can be fixed by bolt in 4 directions, and
p i I T 1
the air supply position is optional Max allowable load L cxsmslide bearing
T <+ = CX5Lball guide bearing
Top fixed m LH. ! g \ Th:: ﬁy‘llndo: that ‘IS I'Il:wda:Iocolrdlzg;‘o ::ol rollo\n\::‘ng i
- SEEEE s installation type its allowable load should lower than .
I L the follows 20—
W N
= — = \
Baottom fixed 1 e ; ! \L A\ N
2 W 7 7 :mmw B LIS
o =) AN
2 \ \&
Air supply port (front . 3 ] o
o] | and back air supply Stroke /Magnetic Switch E ~ 1~ \\\
b ; : port s same) Stand Stroke (mm) 3 : " I\\‘
Side face fixed +—®—-@®- - Type g \\ ~ \&k
Fl 10 20 30 | 40 | s0 S \\ ~ 1=
S CXSM6 | 080|066 |054| 046|040 o "“-\:“‘u.,__:
1L == ]
= CSXL6 108|088 |069|059]|049 “--nq_____:“:“"'"r‘--._
[+ 20 40 B0 B0 100
ry Theoretical output force stroke mm il
. & Rod dia Effective area Service Pressure Air(MPa)
Type Direction
/ﬁ ,f\ (mm) (mm?) 01 02 03 0.4 05 06 07
o
i ,," T Push 56 #0B [ 112 [ 168 | 221 | 280 | 336 | 38.2
LT s (i CXS[16 4
o Lo Full 3 *4 6 62 9.3 12.4 155 18 .6 217
work piece
# Push 157 15.7 314 47 1 62 8 75.5 94 2 110
CXS[110 [
Full 100 100 | 200 | 300 | 400 | 500 | 600 | 70.0
Fush 353 3|3 0.6 106 141 177 212 247
CXS[115 8
L = Pull 252 25,2 50 4 5.8 0 126 151 176
Push 628 62 B 126 188 251 314 3n 440
cexsgz0 19 Pull an 471 | sa2 | 1m | 188 | 208 | 283 | 330
Push 982 98 2 196 295 393 491 589 BEBT
| CXS[J25 12 - :
The workpiece can be mounted from three sides Pull 756 756 | 181 227 302 378 454 529
Push 1608 161 322 482 643 BO4 965 126
CxsC132 18 Pull 1206 120 | 241 | 382 | 482 | 603 | 724 | 844

#Under the pressure of 0 15 MPa

1/3



(Double—Rod Cylinder )

(b6—¢32)
Il Figure Dimension
(kg)
Stroke (mm)
Type
10 15 20 25 30 35 40 45 50 60 70 TS 80 90 100
CXS[16 0.081 - 0.0%5 - 0.108 - 0122 - 0.135 - - - - - -
CXSM10 0.15 0.18 017 0.18 019 0.20 0.21 0.22 0.23 0.25 0.27 0.28 - - -
CXsL10 0186 0165 oy 0.18 018 0.20 0 022 023 0.75 027 0.28 - - -
CXSM15 0.25 0.265 0.28 0.29 0.30 0.315 0.33 0.345 0.36 0.39 0.42 0.435 0.45 0.48 0.51
CXSL15 0.27 0.285 0.30 0.31 0.32 0.335 0.35 0.385 0.38 0.41 0.44 0455 0.47 0.50 0.53
CXSM20 0.40 0.42 044 046 0.48 0.495 0.51 0.53 0.53 0.585 062 0.64 066 0.70 0.74
CXSL20 0.43 0.445 0.46 0.48 0.50 0.515 0.53 0.55 0.55 0,605 0 684 0.66 0.68 0.715% 0.7
CXSM25 081 0 635 0 66 0.69 0.72 0745 0.77 080 080 0. 89 0.95 0.97 0995 1.06 1.10
CXSL25 0.62 0.645 067 0.70 0.73 0.755 0.78 0.81 0.81 0.895 0955 0.98 1,005 1.085 1
CXSM32 1.15 1.18 1.23 1.275 1.32 1.36 1.40 1.45 1.45 1.58 1 665 n 1.755 1.84 1.93
CXSL32 1.18 1.205 1.25 1.295 1.34 1.38 1.42 1.485 1.465 1.595 1.68 1.72 1,765 1.85% 1.94
Figure Dimension(mm)
Through hole
58.5+Stroke 2-06.5 even hole depth 3.3
CXs(e 55 8 454Stroke
16 l Out [
g e 2.75 L 13 10+1/2+Stroke 3
3x0.5%5] —
$ Hexagon socket head cap sery < ~
O D
d - " AV
"~ - - -
e H &le ©) N £z
Fany
\
. "
- \J;___ﬂ“ 45x6) 2-M3x0.5 4
m screw
71 o Through M3x05x1250 MIx05 2-M5 x 0.8 depth 4.5(Pipe port)
2-M3x0.5 Hexagon screw  Hexagon nut b
2-M3 x 0.8 depth 4.5
Opposite side: same
10 13+Stroke
' 2-M5 x 0.8 depth 4.5(Pipe port)
= — / Opposite side: same
o C
o — G o
225 1
(13)  10+12+Stroke
o
b
o
-
(kg)
Type Stroke 10+1,/2 Stroke 13+ Siroke 45+ Stroke 1041 /25wroke
CXS[]6-10 10 15 23 55 68 5
CXS[16—20 20 20 33 65 785
CXS[]6-30 30 25 43 75 88 5
CXs[]6—40 40 30 53 85 98 5
CXS[]6-50 50 35 63 95 108 5

2/3



Figure Dimension(mm)

{ Double—Rod Cylinder ]

($6-¢32)
[cxsot0 - 15-20-25-32.
) s 2z
I 1
‘ J K EE)
1
= Yitonagon eoshel haedesp woet) i P | ST [ e
e |
Tk N ——
| 1 T | |
| | T BD | I||l
o | |
3 ‘ |
1l o ©
o) y
JET .- fan)
. N L N
o 1 =
rd = =
i J = W
X sockst headcap / -
_.E__\ S — _N_-"! = \ \Eqmummlwwmmmm
F \ OfFiat side wicth)
$10-15 e
v
L) (Z) u e v
+ / [(8] (Z) ’
- el == S——— |17
r d / g . X o
e i 2 G»I ot
I
R J "‘ |
. B u " l \_ w_ | u
(N}
O ) L S /
! 1 L
kY i
| /
] /
(e [ é
LRl e
| L —1-0
)

Type Alslclo| E P clufifsfefL] w N |mfojoo|p|e |0 c|nr|m|sfss|v m|u w 1 W O
CXS[J10-10 B4 2-M3 M 10 | 85 HExDE ] M3 | M3 0 &2
CXS[J10-20 244 Tt b | %05 x M 20| m e e | x| x @
CXS[I10-30 la|17|aaf15{ 75| %07 |35|20|4 (8|9 |20 2465 | deph | 46 (5| 07 (336 x (85| 7 |30 7 [30]8|-|5]|8 45 dpet x07 |05[05 102
CXS[J10-40 (Theouh hele Camts | 5 X 0.7 a0|% (Cavecr b 45 w1 | X | x| [m
CXS[110-50 EE] 14 5l 50 | 105 (5 i ppstei)| (S ot i) 0L | s 122
CASC15-10 434 M4 0] B0 [ M5 | M5 8
CXS[115-20 218 Thaghboe | 2-M X M 20 | a0 e X7 s | x| x| ® [
cXs[I15-30 |ss|20|56|18| 9 | x08 |[45|25|s|10|9|a0| =4 | %07 [s8|6| 07 |48| x |10 |w|mws| w0 |[w[e| |58 i e x08 |08|07 103
CXS[T15-40 (Theough bole (oo riegh|  dopth X 07 40 [ 100 (G bk H &8 | X | x| 3 [ne
CXS[T15-50 [T 6 14 5 50 [ 110 5w i) (S . i) 00| 4 129
CXS[J20-10 E 104
CASC120-20 T P e 2| % vear | oem we [ ms | O [
CXS[J20-30 M5 Thogh bole | x0.7 % Mg 30 | 100 st x07 W X | x 124
CXS[120-40 |o4f2s(62|23[115| x08 [s0|28|6 [12{12|30| 485 | deph |410| B[ 10 |53| x 775|125 45 [125] 40 |110|95|65]8 i = x07 |10]|08)| 0 |13
CXS[J20-50 (Theough hole (Cogmerioe gt 6 x 1.0 50 [ 120 Cornece hok) § deh 7 X | X 144
CXS[J20-75 51 18 5L ™ 145 Same e[S 2. opsiis] 12| s 16
CHS[120-100 100] 170 B e
CXS[175-10 0|8 108
CXS[17%5-20 468 | 2-Ms M6 e w1 5 we | me | ¥ [e
CXS[125-30 216 Teaghtoe | 0.8 X M 20 [102 s X e | x| x 126
cxs2s—0 |ao|30|78|28) 14| x10 |eo|3s|6 |6 |12|30| 2en | deph [412[10| 10 |84 | x |85 |15 |46 | 15 [a0[n2|13]| 9|9 i P x15 [10]10] 40 [13
CXS[125-50 (Theough bols Comeon | 7.5 x 10 50 [122 (G ] 15 il | X | X 145
CXs15-15 K 185 75 147 5ame w i) (S . ppeeis] | s 7
CXS[]25-100 100[172 8 e
CXS[]32-10 10 | 92 122
CSC132-20 HiEs | 2-M e 20 [102 w 5 e | me | [
CXS[132-30 M Thowh bole | %0 8 * Ma 30 (12 e xos -8 » | % 142
cxs3—40 |ssfs|os|36| 18| x10 [7s|ea|8[16|1a|30| 241 | doph |p16[13|125] 8| x | 9 [19] 16| 19 |40 122 20 [115] 10 i P xim [1.28]1.25] 50 [152
CXS[132-50 [ Through hale (Conie riegtt| 8 X 1.28 50 | 132 [Comeero o) 15 dgeh 12 X X 162
CHS[J32-75 83 2 7 | 157 e i) (S 2. opsiis] 16| B 187
CXS[132-100 100] 182 0 oz

3/3



